Convert the Units of Weight. worksheet 3

a.4468g=4kg 468 g h.5626g=5kg 6269

i. 5213 g = kg g
b. 2168 g = kg g

j. 3660 g = kg g
c. 9 kg 959 g = g

k. 2 kg 326 g = g
d. 9596 g = kg g

l. 6 kg 525 g = g
e. 5kg959g = 9

m. 1403 g = kg g
f.7kg 412 g = g

n. 9330 g = kg g

g.2kg 331 g = g
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Worksheet 3 answers

a.4468 g = 4 kg 468 g h. 5626 g = 5 kg 626 g

i.5213g=5kg 213 g
b.2168g =2kg 168 g

j». 3660 g=3kg 660g
c. 9 kg 959 g =9959¢g

k. 2 kg 326 g = 2326 g
d. 9596 g = 9 kg 596 g

l. 6 kg 525 g = 6525 ¢g
e. 5kg 959 g =5959¢g

m. 1403 g=1kg 403 g
f.7kg 412 g =7412 g

n.9330g=9kg 330g
g.2kg331g=2331g
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